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STREAM / €T

The moving water in a river is called a
stream.

T4t § 9gd el Rl 9T hed &

UPSTREAM / S:&aqdTg

If the boat is flowing in the opposite
direction to the stream, it is called
upstream. In this case, the net speed of

boat is called upstream speed.

afg a8 g & fauda faom & @ @ &, @ =
FEEyare el rar g1 39 Rafa o wma &t @/ fa
& FHEAYAE Tia weEd 2



DOWNSTREAM / 3TUATE

If the boat is flowing along the direction
of the stream, it is called downstream. In
this case, the net speed of boat is called
downtream speed.

gfg @ g & faym ¥ ag @ ®, 9 3H 3FuaE
&el ST 81 39 fafa ® W@ @ @@ wfa @

JYETE A HEd 2|



STILL WATER/3TTd ST

Under this circumstance the water is
considered to be stationary and the speed
of the water is zero.

ud feafa o @ = few A Siar € o = @t
Tfa =1 Bt 2



or all govt. exa BY ADITYA RANJAN SIR

The questions from this topic may seem to
be confusing until a candidate is aware of the
above-mentioned terms and how they may be
used for answering the questions.

g fawa & wya @& 9% uita & arer wdid &
Uehd & 9a Ak foh @l Sufigar 3Ud yral o 37aTd
21 31T UyAl a1 3WY 39 & feu 39am Suam &y famar s
qahdr gl

This topic basically deals with calculating
the speed of anything in the water when it flows

along with the flow of water or in the opposite
direction.

a7 fawa o ®u ¥ Ut & wae & Wy a9 fauia
faor o @2 uv Ut o ot oft =it &Rt Tifa SRt TToTEn
&4 9 Hatuda g



Important Formulae : mg=ygut g

Given below are a few important formulas
with the help of which you can solve the
questions based on boat and streams.

Jet P "gayul gF fau ww § feaet wewer 9@
3T AT 31T TN T MeTid Wy i &1 i Tehd &
Candidates must learn these formulas by
heart to ensure they are able to answer the simple

formula based questions correctly and do not end
up losing marks for direct questions.

IEaRl &l 39 Al &l fae | dig=n =nfeu arfe
g gifvea & "W T 9 ave g3 smarfia uyet &1 wEl
397 24 U @YW § AW 9iE v & fow e [l e g




sovt. exa BY ADITYA RANJAN SIR

Speed of boat in still water = B
INd At § 19 Hil ATA
Speed of the stream = S

gRT i =ATA
1. Downstream Speed of boat = (B + S)

g S FAAYATE AT
2. Upstream Speed of boat = (B - S)
qd &l Hedudae =
3. Speed of boat in still water
IIid el | A1 Rt e

=5 (Downstream speed + Upstream speed)

4. Speed of the stream/ 1T &l =TA

-3 (Downstream speed - Upstream speed)



Points to Remember/ruia aea

1.

If the total time taken by the boat to row a

distance of D and reach back to its initial
position is T then,

gfg 91a gRT D &t g8 99 &4 3T 310+ arfaes
faffdaueam d fear T aua T 8, &
Distance between the two places is

a1 T o el i g

T (B? - 8?%)
1) =
2B
(B* - 87)
Average speed of the boat = =



govt. ex: BY ADITYA RANJAN SIR

If it takes T hours more to go to a point
upstream than downstream for the same

distance. Then,

Ife guE g0 & fou g & wiaee fodt fag o
A W 9T & el 1 @l qorn ° T 92 3rfes
o £, dl

T (B? - §?)

Distance /il = —=




govt. ex: BY ADITYA RANJAN SIR

If a boat travels a distance downstream in
By hours and returns the same distance

upstream in T, hours.

gfe U 1 91T & A Uk g0 T, U2 ¥ a9
&t & T WEE gH g & Widee T, WS H
gy 3T #

Then, speed of man in Still water

ar, fraw 5@ o ugs &t Tt

S(T,+T,)
3 (Tz "'Tl)




30Vt exa | BYADITYA RANJAN SIR

If the time taken by the boat to row same
distance in downstream is T, and in
upstreamis T,.

Igfg ra gRT FvaTE ¥ 9O g &l IR & |
forar T wwa T, ® 31 g & widewe ¥ T, B
Then, the ratio of speed of the boat to the
speed of stream

at, ST st T T 9WT Wl Ta | AU

B_(T,+T,)
) §—(Tz_Tl)
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'COMPLETE [\J/:¥¥: & COURSE (For all govt. ex: sy ADITYA RANJAN SIR

Some Basic Questions



MATHSEI): pr all g¢ pXd BY ADITYA RANJAN SIR

1. If the speed of a swimmer is 9 km/hr in
still water and the speed of stream is S km/
hr then find the speed of swimmer against

Upstream_the stream and along the stream. Doumetrcar,

afg oa @ o fodt awres &t = 9 feRddt /wwer
9 U W o 5 TRt/ ger § @ ' & wiaee
d 9T & el odid WHY qidh @l ool A

iU

U=-9-5= 4 mlh
D: Q""S: \ Km“\

(a) 4km/hr, 10 km/hr
{bJ 4km/hr, 14 km/hr
(¢) 14km/hr, 16 km/hr
(d) 14km/hr, 18 km/hr



MATHSE1I: or all govt. exz | BYADITYA RANJAN SIR

2. The speed fo a boat when travelling
downstream is 32 km/hr, whereas when
travelling upstream it is 28 km/hr. What

D=32mh U=28imlh

= 30428 y=32-28 is the speed of the boat in still water and
- 2 the speed of the stream?
= 3ol =Qumiy,  umT W favm A W@ gU ATa W owrer 32

fodt /a2 € wafe g & fauda wma & =e
28 Tt /=eT €)1 1@ &1 =T INA TA W 3T
ST ohi =TT o7 &7
(a) 29 km/hr, 3 km/hr
(b 30 km/hr, 2 km/hr
(c) 30 km/hr, 8 km/hr
(d) 31 km/hr, 1 km/hr



x-Y = I1Simlh
D x-2=I1S
2 %=1

A boat takes 48 minutes to cover 12 km
against the steam, if the speed of stream
is 2 km /hr then what will be the speed of
the boat in still water?

(uw ATa T @ faada favm A 48 firre B

< 12 faddt &t g9 @3 &3t €, afe g &t wfa

2 fodi/ger & af Imd a1 ® AT9 & A

(b) 15 km/h
] (c) 13 km/h

(d) 1.25 km/h



W) IR AMATHS

JUK pr all g¢ PX 2 BY ADITYA RANJAN SIR

Ds = 9d 18nlh 4. A boat while travelling in the direction of
Z stream take S hours for 90 km, while
Us = % 15 mlh covering the same distance in the opposite
‘ ’ direction of stream, it takes 6 hours then

A= 16-5km]|h

a :-%_-="S"“”" the speed of stream is:

U& g gir wt favm & 90 fewdiewt gH s
2 o a9 &Tdl & Jafeh 9T i fauda faum

o et g7 6 Ue W 99 wh{dl §, A &N @t
o ® (a) 2 km/hr

(b) 2.5 km/hr
(c) 1.5 km/hr
(d) 1 km/hr



W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

TYPE - 01



5. A man rows down a river 15 km in 3 hrs.

1% 6im/h 1

/9/ with the stream and returns in 75 hrs.
B X 2. lcon( b The rate at which he rows in still water is :
s ww e T @ A @ fom & 1s fad qh
. o= _S+2 =3.Stm/n 3a%ﬁmm%am7%a%ﬁagam
= ;T HATAT €, A INd Wt U IWeh! Tid AT §IT?

(a) 2.5 km/hr (b) 1.5 km/hr

(¢)3.5 km/hr (d) 4.5 km/hr

3k



govt. ex: BY ADITYA RANJAN SIR

A swimmer walks 30 km along the flow of
river in@(hours 45 ;inutes and walks 15
km against the flow in 2 hours 30 min-

utes find the speed of boat in still water
and the speed of flow (in km/hr).

Ueh ATfaeh 91 H 9gTd @i AT 3 "2 45 faae
H 30 Tt 9T@ weTar & 99T WgTd & fawag 2
e 30 fuqe o 15 feft, -ma wemar €, feom
Ut ¥ AT Rt A q9T WAt ki A ATd iU
(a) 8 and 1 (b) 7 and 8
\{¢) 7 and 1 (d) 9 and 10







2min T | q

|2min—> ILm)xs TSN > 1 1m.

60min—> 25w ISmin & )x
\ (41

o xy



govt. ex: | BYADITYA RANJAN SIR

A boat moves downstream at the rate of
1 km in 772 minutes and upstream at the
rate of S km an hour. What is the speed
of the boat in the still water?

us Ara(7.5])fue o 1 falt &t 3T | sEuaE
U =rerdr € it 5 fadl/92T &f 37 9 Sed ude
U el 21 e ar=t o A &t i Jma #w?

(a) 2 km/hr \(9)/6% km/hr
1
(c) 4 km/hr (d) 3— km/hr

2



govt. ex: BY ADITYA RANJAN SIR

A boat goes downstream in one third the
time it takes to go upstream. Then, the
ratio between the speed of boat in still
water and that of the stream is :

Ueh ATd Uah fyea g8 _anT & _Ufdehel a9 &

= (LR e B 2 M g L= B | K R o T B L L
I a9 &1 o U fagrd wwg @dr 1 4r, feew
gt W A st fa 3T gWT it fa & srar @
ITUTE AT |

(a) 3:1 (b) 1:3

(¢) 1:2 \(9/2:1




W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

TYPE - 02



MATHSEI): pr all g¢ pXd BY ADITYA RANJAN SIR

D: U 9. If the speed of flow of river is 4 km/hr and
§peeda 31 the speed of boat along the stream is 3
times of the speed against the stream. Then

what will be the speed of boat?

\?4Km|h gfg €t &1 agTa 4 ot /g2 § 30T 919 9 &
SeTd & fauda fEym &t 3198 o/ & Wy |J|
T IO | AT § At SIS @l Srel 9 giit?
(a) 12 km/hr (b) 16 km/hr
(cy8 km/hr (d) 10 km/hr

4= Y,

8l£mlh



MATHSEI): pr all g¢ pXd » BY ADITYA RANJAN SIR

Y 10. The speed of boat in still water is thrice the

S5 3.1 g SPeed of stream. If takes 6 hours to go 48

Us = % km against the steam then what is the speed

U = 8 tmfh of boat is still water in kilometer per hour?

A-y = 8 I S | TG &l AT, GRT i ATA &l drd

3K-1ic= 8 T ®| gfg g & faudta 48 Tt W ° Ama

LT &l 6 U T B, d Id WA H AT &l oA
A 24y, ( ferardreT wfa w=T) =T 272

(a) 10 (b) 8
12 (d) 14



MATHSE1I: or all govt. exz | BYADITYA RANJAN SIR

Y 10. The speed of boat in still water is thrice the

s> 3 1 g SPeed of stream. If takes 6 hours to go 48
Us = km against the steam then what is the speed

y % of boat is still water in kilometer per hour?

BX3 212y INA TA W AT FW AT, TRT HI WA HT A

=" T §1 afe am & fauda 48 et W A A

& 6 TS TG Bl, A INd WA H TG Hi ATA
( fwmervreT wfa o2r) == 872
(a) 10 (b) 8

12 (d) 14



or all govt. exz | Y ADITYA RANJAN SIR

11. A man takes 2.2 times as long to row a
distance in upstream as to row the same
distance in downstream. If he can row 55
km downstream in 2 hours 30 minutes,
what is the speed of the boat in still water?

U& Afad anr & favsg W= o, g & A
A W 2.2 AT WHG oar 21 afg g% 55 Tt ¥
T & WY 2 92 30 faqe o -ra = 9ehdr €,
af ITd e | AT Shi ©ITer T B 7

(a) 40 km/hr (b) 8 km/hr

(c) 16 km/hr (d) 24 km/hr



BY ADITYA RANJAN SIR

The speed of a boat in still water is 5% km /

h. It is found that the boat takes thrice
as much time to row up than it does to
row down the same distance in the river
stream. Find the speed of the river stream.

1

IIid el | Ueh A1 ahi =T 53km/h%|?1€

urar & f& @ & amr &t fauda favn 9
fafvea gt 79 & ¥ @ aren 9wa, 9w
&l faym o a€1 gt 79 &1 9 @ ard 9ud
&1 @19 AT §1 TET Sl 9WT HI ATA AT RITAT

SSC CGL 05/12/2022 (Shift- 02)

23 o 22
(a) 27 m/sec (b) 27 m/sec
20
(c) 2—7m/sec (d) Em/sec



W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

TYPE - 03




MATHSEI): pr all g¢ pXd BY ADITYA RANJAN SIR

Us=3tm[h Ds=6mh 13, A swimmer run 3 km/hr against the stream
and goes 1 km in 10 minutes along the
= 4-5imlh stream, then in how much time will be take

to cover 5 km in still water ?

=2 204 71§ T aw @ fawd 3 feenier o w2
U ST § 997 &7 i feym " 1 feendreT 10
foe o wrar 2, @ few urdt 5 famendiex
farast 27 o o ?

1
(a) 1 hours (b) IE hours

1
“;(16 hours (d) 40 minutes



MATHSE1I: or all govt. exz BY ADITYA RANJAN SIR

o= Bkm[h Dg =12kmlh 14 |A swimmer can swim 2 km in 15 minute
xX+Y =12 in a lake in still water/and he can swim 4
é; 4 @ km along the flow of river in 20 minutes.
if a paper boat is put into river, then how
D= 8%t far will it float in 2% hours?
= 4x&8.S

Uk dUeh il | ynd 9 § 15 fume o 2 faedt
% dTehT T Wehal § AY4T 9§ Ueh &1 H &
& g 20 fae ¥ 4 fadt &t g8 @& o w&har
21 afs 39w H UF wOTA @t A" @ &

m,ﬁaEZ%d%ﬁﬁmﬁirmm

ST AT ?
(a) 18 km (b) 12 km
(c) 8 km 10 km




W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

TYPE - 04



ll’ ix«mlh\
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MATHSRE)I):

Tes 22PK

D B=ZxDXer L
3 BX B+ 7

30Vt exa BY ADITYA RANJAN SIR

15. A man goes downstream with a boat to
some destination and returns upstream to
his original place in S hours. If the speed
of the boat in still water and the stream are
10 km/hr and 4 km/hr respectively, the
distance of the destination from the
starting place is

U& 3EHr A9 § TR e a9 W 3T o1
el M UT 99" A U 5 U @ WU el gl
gfe fiar ot o s &t nfq 3w amr & wfq
chHIT: 1ofa;ﬁmaaﬁ14fa;ﬁm%‘aﬁwﬁm
WE W Taed &l g Jd il

(a) 16 km (b) 18 km

\(¢} 21 km (d) 25 km




16.

govt. ex: | BYADITYA RANJAN SIR

Speed of a boat is 5 km/hr in still water
and the speed of the stream is 3 km/hr. If
the boat takes 3 hours to go a place and
come back, the distance of the place is:

Us TE i i frow o ® 5 fadt/eer # e
grT st i 3 fetdtger 21 afe - = e =ae
UT WM 3T Amw o W 3 u2 oni &, 9 39
T @l g FTd i

(a) 3.75 km (b) 4 km

(S) 4.8 km (d) 4.25 km



MATHSE1I: or all govt. exz BY ADITYA RANJAN SIR

8: 6kmlh  D=I0Km 17. The speed of the current is 5 km/hr. A

L a motorboat goes 10 km upstream and back
T- 2Dx again to starting point in S0 minutes. The speed
A-y2 (in km/hr) of the motorboat in still water is
9_%:251_022% ST skt Tfq 5 famdt/ger 81 TR "eT | 10 Tt
e Boiked T yaE H W 3R urfuye fag ww amw eam
:_Q’Xg:;(%iﬁso fime &1 9 ot 81 figw U o gieT |9
- S = nfa (T gz §) F@ &1

(a) 20 (b) 26
\(5) 25 (d) 28



'COMPLETE [\J/:¥¥: & COURSE (For all govt. ex: sy ADITYA RANJAN SIR

Miscellaneous Questions



MATHSE1I: or all govt. exz BY ADITYA RANJAN SIR

x® Y 18. The speed of a boat in still water is thrice
S» 3Q:1a the speed of the stream. If the boat
D(_doum): Dwp) takeslS5.5 sec to go to a certain place
downstream, then find the additional time

S = &dXt -
4gX 55 required to cover the same distance

travelling upstream.

N

Id Wel | ek 19 @Rl AATel, 91T i &Rl A4
:l,s&&/qmznkzrf\amstmmﬁmnw;um
% W " 15.5 HHUE &1 GG Adl &, 9@ o
7 &t faudta faum o I &wva gu 39+t &
T @3 H1A & Tou sravas stfafraa w@u=

ATd SITATI
SSC CPO 11/09/2022 (Shift -02

MS.S sec (b) 29 sec

(c) 31 sec (d) 35 sec

GX{'(O: 3l-1S-¢



BY ADITYA RANJAN SIR

18. The speed of a boat in still water is thrice

the speed of the stream. If the boat

takeslS5.5 sec to go to a certain place
downstream, then find the additional time

required to cover the same distance
travelling upstream.

N

IId Aol § Ueh AT &Rl AT, UTIT i i A4
AT g1 afe wra g & faum 9 fafvea wems
% W4 W 15.5 HHUE THT GHT A1 &, A9 4
7 &1 faudta faym & I wva gu 39t &t
T 79 w1 & fou sravas sifafraa w@ua
ATd wITAT

MS.S sec (b) 29 sec

(c) 31 sec (d) 35 sec



MATHSE1I: or all govt. exz BY ADITYA RANJAN SIR

_ —002.5km| |
‘X.- %5 Km,h 2 L 19. A boat racer can ro 213lnn/h still
L 2

y = 12-5 mih water. If the speed of river is 12.5 km/h,
it takes him 40 minutes to row to a place
and back, how far off is the place (consider

T=_2DX up to two decimals)?
-y
0 us Q vF Wz TEr frav we o 21; fapedt Jorzr =i
S0 = ZXDxoers - .
3 0 ’QJ'GXSSXLQ«Q =T | AE wen gaar ) gfe 12.5 g
# WA W _wE arelt T4t o, 39 Us 9T A%
= Y - W 31T Ag| W 0 40 fawe w wwa e
——=D S i , o
N g, @ a@g wam fwa g7 & (Ivivem & &
S 5 S TATA AF WA FATA W )?
\:'
21 SSC CGL 06/12/2022 (Shift- 01
5 2
S— o —
( 27km (b) skm
S S
(¢) 4 - km (d) 3 .~ km

27 27



By ADITYA RANJAN SIR

A man rows to a place 48 km distant and
comes back in 14 hours. He finds that he
can row 4 km with the stream in the same

time as 3 km against the stream. The
speed of the stream is:

U eHl 48 km T U UM UT TG =TT
m%aﬁtmu%ﬁm_unm%lagum%
f& ag aT & Y9 4 km F I TT FT GHa
£, Wafes U @O o g & a2 3 km
&I g1 99 FT FhaT &1 9T H ATA B

SSC CGL 07/12/2022 (Shift- 02)

(a) 1.5 km/h (b) 3.5 km/h
(b) 1.8 km/h \g/l km/h




MATHS

T": ‘{:D+ 'tU

=q&:+£4.s

g

585

s

govt. exz BY ADITYA RANJAN SIR

21. A boat can travel with a speed of 19 km/

h in still water. If the speed of the stream
is 3 km/h, then what will be the total time

(in hours) taken by the boat to go 88 km
downstream and 24 km upsteam ?

us A e s@ o 19 fedt ger &t uwter |
9 Hehdl g1 afe oamr w w3 Tt/ =er &
ar Ara gro 88 fardt smar &t faom o 3w 24
ferdt e &t faudia faom o s\ 9 &= fwan
g (92 ° ) @nm?

SSC CHSL 04/08/2021 (Shift- 01)
(a) 4.5 (b) 5

(c) 4 \(d}"5.5




MATHSEI): or all g
Dup :Ddaum
= 3}2/)(3 - Yext

22.

BY ADITYA RANJAN SIR

Ravi can row a boat in still water in the
speed of 14 km/h. If a river is flowing at
the speed of 2 km/h and Ravi takes 3 hours
to cover a certain distance upstr£iit) then
how much time will he take to cover the
same distance downstream ?

fa fror o1 o us Ar@ &t 14 Tt g &6
A H @ AT Hehat g1 Tfe 76T 2 fawdt ger &t
o | vaTed & 3T Aefa & IEE gWT &
fauia tes Mo g 7@ &3 o 3 92 &' §
A 3W uwT wt faom o I € g @ & o
fara=m wwg &?

SSC CHSL 06/08/2021 (Shift- 01)

(a) 2 hr 20 min (b) 2 hr
W/Zhr 15 min (d) 2 hr 30 min



MATHSEI): pr all gc pXd BY ADITYA RANJAN SIR

8:2lmlh 23. Sunil can row a boat 20 km upstream
MO"\M; in 1 hour 15 minutes. If the speed of
Ihr 1Smin> ’*—%} the current of the river is 2 km/h, then
o ' how much time will he take to row the baot
Us= _SOX60

M3 . g 30 km downstream ?
9 A-2:6 -(Q‘Q‘(8+2)—E% Ao, Ara & 9T & faudta 1 92 15 fame o
%x:tex@ = 1.Sh, 20 ot @& & w1 wahar &1 afe Tt & o
& At 2 Tawddi/ger  aF g & faym o Ama

&l 30 Tt & 9 9 39 /@ fomar gug &m?

SSC CHSL 10/08/2021 (Shift- 01)

(a) 1 hr 10 min
(b) 1 hr 45 min

\(¢¥"1 hr 30 min

(d) 1 hr 20 min



MATHSE1I: or all govt. exz | BYADITYA RANJAN SIR

3X USV + 8u = 2hr @ A boat can go 15 km downstream and 8km

gx[2ov + 2 :L6'1_hf Yery 8°°ups_tx_am in 2 h. It can go 20 _km
downstreamand 12km upstream in

sv = A m. What is the in km/h of the boat
3 while going/downstream?
S -&Yn

V:%é L£FRE A1 2 U2 | aunr i faym o 15 feddt 3w
CLemaaege QA @ fawd feom F 8 falt 3 30w
\/J'— = 18- wewdr 1 T® 2 92 50 fave ¥ amT =t faymw ®

f 20 Tt 3fr o = fauda fovm & 12 et
3 & g 99 HT Tehdl g1 9T & faym ¥ W@
qug A1 @t are (et /s 9 ) J| &7
« SSC CHSL 15/08/2021 (Shift- 01)

(a) 16 ()15

(c) 20 (d) 18



COMPLETE |\ V:¥ ¥ s Ny COURSE (For all govt. exams ) sy ADITYA RANJAN SIR

Dowﬂef\ UP 25. The speed f)f a boat downstream is 15.0%
Speds R8T 0 J0 Sehies 'ky TS Mok S5 yobug 2 Ao
downstream and 50 km upstream is 8.2
ip+ 4y = 892 hours,then what is speed (in km/h) of
3 \680 . nG -8 theboat downstream ?

R I the ar # favn &, faeh T w s v W
3 po fautta fagm =1 s9®T I8 § 150% 3Ta® T
?=%‘S’ gfe grr &1 faym 9 80 fadt v g =it
@ faudta faym @ 50 fadt &1 g 79 &2 o
- T |WWT 8.2 WeT §, 41 uWT @i faym w Ama

d“‘m): SXS=25 amrarel ( fadt /g2 ) Fma *ifaw)

SC CHSL 12/08/2021 (Shift- 01)

(a) 16 (b) 30

(c) 24 \(9/ 25



MATHS DUEK DI all g¢ . ¢ BY ADITYA RANJAN SIR

Sy= % i % gg A person rows upstream a distance of S5
D~ km in S5 hours and rows downstream a
oo - 8 = 14 kmf h N4y = 2S|m|n distance of 75 km in 3 hours. How much
time will he take to fyovda distance of 96

~ = 18 tm|h km in still wates ?
& Fafad g i fauda fayw o 55 fadr =t
{3%'6=5%hr it 5 92 W 99 @idl € T unr & faem o
)8’3_.5;”-&2-&“‘“ 75 fadt &t 36 3 w2 W @9 @var €1 39 fer
:Sh} o " 96 Tt &t 3T 79 &7 o fawaw www

SSC CHSL 16/04/2021 (Shift-01)

(a) 4 hours 40 minutes
UBY'S hours 20 minutes
(c) 6 hours 10 minutes
(d) S hours 45 minutes



BY ADITYA RANJAN SIR

. X, Y are two points in a river. Points P and

Q divide the straight line XY into three
equal parts. The river flows along XY and
the time taken by a boat to row from X to
Q and from Y to Q are in the ratio 4 : 5. The
ratio of the speed of the boat downstream
that of the river current is equal to:

X 3R Y fadt 7€t v 2 fag &) fag P 3w Q
it 1T XY & @4 araw 9arn o fawfaa @
%uﬁmémwé 3T fwdt =
gmxﬁQaa;aﬁv,\qaframﬁaﬂﬁmﬁ
qug & AU 4 : 5 T 9N & fIvw o A @
uTel 3ATAET &l 9T i AT Rl AT AT i |

SSC CGL 13/08/2021 (Shift- 01)
(a) 3:10 (b) 3:4

\3_9/10:3 (d) 4:3



et 4_=0 L=V
LS

r1 E}Su+ 39y - 8 ___@7 Xty
x+y = 13
(5 © [3s0 + S2v= 44 ———@] -y =3
O + ' A= q g=4
&>
put v m ecb 6
QS“"'W.&. =g
% )3'



MATHS UK : D DX E BY ADITYA RANJAN SIR

Q% + 89 = O. A boat moves 25km upstream and 39km

*-Y Aty downstream in(8 hours) It travels 35km
= 1 @ upstream and 5S2km downstream in 11

3 + S22 = s

T A+ hours. What is the speed of the stream if

it travels at a uniform speed?

Uk ATeRT 8 U2 W 9WT @i fauda favm o 25
km 31T g7 &t f2ym § 39 km wedt 1 9%
11 w2 ¥ gy & fauda faym ¥ 35 km 3
gquT it faem o 52 km &t I T wHTAEr )
Iafe 9% Ueh WU e H ATAT AT §, Av 4w
&l =T AT

(a) 4 kmm/h (b) S km/h
(c) 6 km/h (d) 3 km/h



o) 1S AMATH SE11): or all govt. ex: By ADITYA RANJAN SIR

Up - DowM 29. A boat covers a certain distance against
Haus 5*61 260~ the stream in 9 hours 36 min and it covers
_64 HAO the same distance along the stream in@
8 S5 hours. What is the ratio of the speed of
Speed> S @ & the boat in still water to that of the
%y stream? \

= g & 9 ue 36 o9z # a9 &l &1 31T I8
grT @i faum o |wu gfH & 6 U W a9 &l
gl ftaw 9@ ° 9@ &t 9@ A 9nT @ e
T 3TUTd ST T2
SSC CGL 12/12/2022 (Shift- 02)

\(y/13:3 (b) 9 : 2
(c) 11:6 (d) 8:5




30. A boat can go 40 km downstream and 25

GXQOV 4950 = '7'.5) km upstream in 7 hours 30 minutes. It

360 = 10 7 can go48 km downstream and 36 km

=) S48y + - upstream in 10 hours. What is the speed
O+e30uv=_F'4 (in km/h) of theboat in still water?

U& g 7 ue 30 oA W 40 Tt amy &t

faom o 37w 25 fodt amr =7 faudia feym o

(

3

U8y = E 4 £ o .
‘,+36X;f;-'° AT Wehdl 1 I 10 U2 W 48 ferdl 9wy =i
= ! faom ¥ o 36 ft amr @ fawda favm §

%‘:_3‘-‘2 AT Wehdl &1 I Wl °H A1a @i wrer ((fadt/we
,,(:g\‘s ¥ ) falt g
33 SSC CPO 09/11/2022 (Shift-03)

(a) 6 (b) 12

\OL (d) 15




By ADITYA RANJAN SIR

. A boat covers a round trip journey between

two points A and B in a river in T hours.
If its speed in still water becomes 2 times,

it would take m T hours for the same

journey. Find the ratio of its speed in still

water to the speed of the river
g A fodt 7€t ¥ 2 fagat A 3l B &
dra T3e-feu amEr aret g &1 T °92 ° 99
&ydl gl afa frow s o 3Hat =e A w
AR A B T EFA A T
ge i i s@ W sHeRt Wure &1, FST i
el | AU Fd H

SSC CGL 23/08/2021 (Shift- 01)

\(8y11: 1 (b) 161 : 40

(e) 1:11 (d) 2:1



32. Abhi rows upstream a distance of 28 km in

S U:‘? " 5D :%25' 4 hours antLpLows downstream a distance of

S0 km in 2 hours. To row a distance of

o= 16 mfh 44.8 km in still water, he will take :

g8 At anr & wfeser 28 ferft 4 52 § wn & A

1= W hy gNT & 3ol 50 ferddt 2 52 o a7 wvar €1 feew

& WA H 44.8 Torddt & 0 @@ & ® 3@ fwam
QU 0 ?

SSC CGL Tier-1II (11/09/2019)

\_(8Y2.8 hours (b) 3.2 hours
(c) 2.4 hours (d) 2.2 hours




30Vt. ex: BY ADITYA RANJAN SIR

33. The speed of boat in still water is @ m /

h and the speed of the current is(@ %km/
h. In how much time (in hours) will the
boat travel a distance of 90 km upstream
and the same distance downstream ?

fior 9@ W Us A9 Hr O 18 feRdr/wET ®©
AAT 9T A AT 6 TeRdl/g2T &1 I AT ST
& Ufasme 90 fadft agr gat & IH amr &
Iqehel Tohas 9OT (92T W) | 9 &H002

SSC CGL Tier-II (12/09/2019)



UMF MATHS DUEK Dr all g¢ . ¢ BY ADITYA RANJAN SIR

9 [Bu+ "8V = 45min/

1
34. A boat can go 5 km upstream 7 _km
N\

- 25 mn 2
3[95v+ 5V ) downstream in@5) minutes. It can also
950+ 0 = ASmmin go S km downstream and 2.5km upstream

% in 25 minutes. How much time—{in
Qng = 12 X60 |2 = 36minminutes) will it take to g
- 3 . 1 -
U& g 5t Seavarg 3N = fedt sruare
45 foe W 1 Wehdl 21 A8 25 fume o 5 feomudt
IUETE AT 2.5 Tt Sedyarg uv ot S wehdt
21 6 Tt Sedyare 9 o fawar woa ((fo=aet
o) F?
SSC CGL Tier-II (18/11/2020)

(a) 30 (b) 24
(c) 36 (d) 32



MATHSEI): r all g pXd BY ADITYA RANJAN SIR

MmN ,Q @ A swimmer swims from a point P against

=

&min P*_—_—",gom o the current for 6 min and then swims back

along the current for next 6 min and
reaches at a point Q. If the distance
4 between P and Q is 120 m then the speed
(’Hg)X}Gﬁ{ = % )X%p‘ ")270’ of the current (in km/h) is:

Ddom - DQP — ‘20

9 3243y - (4 Ush dieh Uah fag P 9 a7 & faudia 6 fuse

3 e % atar £ 3T frr e 6 fime & fow amo

-}433-7&33:1 # wa dra £ s uw fam Q W uwEwAr £

%) 63-.1_ gfg P 3T Q & & @i g1 120 m &, @ o
3) a:\ms_, Q T &t =Tl (km/h ®) 21

6 %}&km,h SSC CGL 01/12/2022 (Shift- 03)

(a) 0.4 (b) 0,2

S
0.6 (/p () 1 Ws



36. A boat can go 2.4 km upstream in 16

minutes. The ratio of the speed of the boat
SU 3%2“‘1')26‘7 g qulh\/ in still water to the speed of the stream
4o | is 8 : 3. How much time (in hours) will the
Z boat take to go 21.6 km in still water and
Y 33 km downstream?
8:3 U g g & faufta 2.4 km ®t g 16
8iIc 3K foe o a9 &7 g&dl 21 feow 5@ o 9 &
Su= Sk:Q H\lﬂaﬁ'{mﬁumml@WB:S%IWﬁ
- 18 & feaTr 5@ ¥ 21.6 km 3T g &t faym o
! - | 33 km W H feha=r ¥wa (92T ®) m?
%\Mu -+ e ¢
~ 2o ‘}'8"6, 3 17 13



